Minnesota State High School Mathematics League
2013-14 Meet 2, Individual Event A

Question #1 is intended to be a quickie and is worth 1 point. Each of the next three questions is worth 2 points.
Place your answer to each question on the line provided. You have 12 minutes for this event.
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/O 3.  Brad’s father is three times as old as Brad. In ten years, Brad’s father will only be twice as
old as Brad. How old is Brad currently?
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If a clock shows 8:00 pm now, determine exactly how many minutes must pass before the
clock’s hour and minute hand will be pointing in the same direction for the first time. f"
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Minnesota State High School Mathematics League
2013-14 Meet 2, Individual Event B

Question #1 is intended to be a quickie and is worth 1 point. Each of the next three questions is worth 2 points.
Place your answer to each question on the line provided. You have 12 minutes for this event.
Perimeter| AACD |= 2]
l (( 1, In right triangle ABC, BC = 6,AC=8, a/14nd AB = 10. If CD is a median of the triangle,
calculate the perimeter of AACD . N .
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HP:P]= 2. AFGH has side lengths f= 7, g = 13, and h = 10, as shown in Figure 2. Angle bisector Fj
and median FK are drawn, intersecting at point P. Determine exactly the ratio HP: PJ .
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Volume = ” o 3. Calculate the volume of pyramid GIZA4, where G = (2, 1), I=(0,8), A= (-5, 1), and Zis any
point located exactly 6 units above the xy-plane. (Hint: imagine the coordinate plane being
laid flat on a table; point Z would be floating somewhere 6 units above the table.)

V> 3BH = (SLhe ¢ 6 = 49

|7

VY RS= 4. In APQR (Figure 4), Sand T are the trisection

points (nearest to P) of P_Q and PR respectively, V

is the intersection of 5? and E._S:, and PV

intersects QT? at W. Xis the other trisection point

of PR ,and RS and _ME( intersect atY.

Figure 4

Determine exactly the ratio VY : RS.
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